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QUESTION NO: 1

Which is an application design pattern for avoiding cascading service failure?

A. Nanoservice

B. Circuit Breaker

C. Service Discovery

D. Service Authorization

ANSWER: C 

QUESTION NO: 2

Which two languages are available with the IBM Cloud Object Storage SDK?

A. Go a

B. Perl

C. Java

D. Node.js

E. .NET Core

ANSWER: A D 

QUESTION NO: 3

What are two advantages of creating views in IBM Cloudant?

A. It deletes a bulk of documents

B. It uses _id to index documents

C. It speeds up searching for content

D. It uses full-text search through the data
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E. It pre-processes the results before returning them to the client

ANSWER: B D 

QUESTION NO: 4

Which statement is true when selecting a microservices runtime platform?

A. A DevOps capability is not necessary, as microservices are inherently independent and loosely coupled

B. Infrastructure as a Service (laaS) platforms abstract and remove operating system dependencies.

C. A microservices oriented Platform as a Service (PaaS) enforces that all microservices are scaled together.

D. An ideal Platform as a Service (PaaS) provides the necessary capabilities and building blocks to associate metadata, 
policies, and correlate inter-service calls.

ANSWER: A 

QUESTION NO: 5

What is one of the supported methods for deploying an application on IBM Cloud Private (ICP)?

A. As a Docker swarm image on ICP

B. Through the Kubernetes platform

C. Using Mesos Marathon Framework

D. As a stand-alone without runtime components through the command line interface

ANSWER: A 

Explanation:

QUESTION NO: 6

What are two features of Compose for Redis?

A. Slow logs
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B. SSL binding

C. TLS encryption

D. NoSQL deployment

E. Continuous integration

ANSWER: B C 

QUESTION NO: 7

What is one of the prerequisites that is required to be able to use the Load Impact tool to support automated testing?

A. The application to be tested must be accessible over the internet

B. The application to be tested must be deployed behind a firewall

C. The application to be tested must be deployed on a secure customer environment.

D. The application to be tested must be deployed onto a physical server behind a firewall.

ANSWER: D 

QUESTION NO: 8

Which factor of the Twelve-Factor App methodology discusses how best to understand an applications lifecycle?

A. Logs

B. Processes

C. Disposability

D. Build, release, run

ANSWER: D 

QUESTION NO: 9

Which two resources can IBM Cloud Availability Monitoring service monitor?

A. REST API

https://dumpsqueen.com/


DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com

B. Website URL

C. Memory usages

D. CPU utilization

E. Disk utilization

ANSWER: A B 

Explanation:

https://www.ibm.com/cloud/garage/tutorials/tutorial_bam

QUESTION NO: 10

Which two methods are considered safe under HTTP specification for RESTful APIs?

A. GET

B. PUT

C. HEAD

D. POST

E. PATCH

ANSWER: A C 
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